
GLIMAKRA OF SWEDEN AB | Box 125 | SE-289 04 Glimåkra | Försäljning +46 44 454 10 

Sales +46 44 454 20 | info@glimakra.com | www.glimakra.com | Org.no 556120-7837  

VAT.no SE556120783701

GLIMAKRA

OFSWEDEN

S E E N

M O N T E R I N G S A N V I S N I N G  /  ASSEMBLE INSTRUCTIONS         

     2022 08 24

Woofer/ Mötes/ Konferensbord/  
Meeting/Conference -table

Vi rekommenderar att du följer våra monteringsanvisningar för att säkerställa att din möbel från 

Glimakra of Sweden varar i många år. / We recommend to follow our assembly instructions  

to ensure that your Glimakra of Sweden furniture lasts for many years.

E N     T A B L E  P I L L A R 
Table pillar with adjustable feet, 
cable slots in base and internal 
cable basket.

S E     B O R D S P E L A R E 
Bordspelare med justerbara 
ställfötter, kabel skåror i sockel 
och invändig kabelkorg.



Ø1200

Ø2800

1600

Ø4400

2200

6000

2200

2200 1600 2200

E N

S E Mötesbord

Meeting table 

W O O F E R  I

E N

S E Konferensbord hel bordsskiva

Conference table full table top

W O O F E R  I I

E N

S E Konferensbord tvådelad bordsskiva

Conference table two-part table top

W O O F E R  I I I

E N

S E
Konferensbord tredelad 
bordsskiva 

Conference table three-
part table top

W O O F E R  I V

S E

E N

1 . 2 .

3 . 4 .
T H I S  P A C K A G E  C O N T A I N S :
1. Center pin 8x30 
2. Screw pin M6x30                       
3. Stop screw M6x8
4. Allen screw M6x20

D E T  H Ä R  PA KE T E T  I N N E H Å L LE R :
1. Centrumtapp 8x30
2. Skruvstift M6x30        
3. Stoppskruv M6x8
4. Insexskruv M6x20



E N     W O O F E R  I

A .  The tabletop is screwed on with 
black Allen screw M6x20 (4.)                

S E     W O O F E R  I 

A .  Bordsskivan skruvas fast med svart 
insexskruv M6x20 (4.)               

A

S E     W O O F E R  I I I ,  I V 

B .  Tvådelade och tredelade bordsskivor 
montera centrumtapp (1.) och skruvstift 
(2.) i den bordskiva som har M6 gängor 
i kanthålen. Skruvstiftens försänkning 
ska vridas rakt mot bordsskivans över/ 
undersida.

B

E N     W O O F E R  I I ,  I I I ,  I V

B .  Two-part and three-part table tops mount the center pin (1.) and screw pin (2.) in 
the table top that has M6 threads in the edge holes. The recess of the screw pin must 
be turned straight towards the top/bottom of the tabletop.

S E     W O O F E R  I I ,  I I I ,  I V 

C .  Placera ut pelarna med 1600mm c/c 
lägg i el och datakablar med ändarna ner 
i de små hålen enligt bild koppla ihop 
kablarna kontrollera att dessa fungerar 
som önskat innan skivor monteras.

Lägg på bordskivorna vänd kopplade 
bordsskivor så att skruvstiften (2.) går 
in i motsvarande bordskiva med de 
förmonterade kopplingshusen. 

Kontrollera att kablarna inte hamnar i kläm 
utan ligger rätt i bordskivans kabelkanal.

E N     W O O F E R  I I ,  I I I ,  I V

C .  Place the pillars with 1600mm c/c 
put in electricity and data cables with the 
ends down into the small holes as shown 
connect the cables check that they work 
as desired before mounting boards.

Place the table tops, turn the connected 
table tops so that the screwthe pins (2.) 
go into the corresponding table top with 
the pre-assembled coupling housings.

Check that the cables are not pinched but 
lie correctly in the cable channel of the 
table top.



1 6 0 0 m m

C

D

E N     W O O F E R  I I I ,  I V

D .  Two-part or three-part table tops, press 
the table tops together as tightly as possible 
and screw in stop screw (3.)

S E     W O O F E R  I I I ,  I V 

D .  Tvådelade eller tredelade bordsskivor 
tryck samman bordsskivorna så tätt som 
möjligt och skruva i stoppskruv (3.)

E

E N     W O O F E R  I I ,  I I I ,  I V

E .  Screw the table tops to the columns 
with allen screws (4.)

S E     W O O F E R  I I ,  I I I ,  I V 

E .  Skruva fast bordsskivorna i pelarna med 
insexskruv (4.)

E N     W O O F E R  I I ,  I I I ,  I V

F.  Screw in the cable covers with the 
Allen screw (4.)

F S E     W O O F E R  I I ,  I I I ,  I V 

F.  Skruva fast kabelluckor med 
insexskruv (4.) 


